[ Efficiency vs vertpos |

0.01

0.009
0.008
0.007
0.006
0.005
0.004
0.003
0.002
0.001

Ja)

VS

0.954

1072

10

10

Efficiend

—=— DQM_TT__mkFit-DQM_orig2
—e— DQM_TT__mkFit-DQM_mod2

0.02

0,008+ v o
0086+ e
0.014f --eebeee]edenneene S SATTRER SRSRS
YT, SRS ORI SR N o
Y0NS N S s e
T O SRl
0,006 -<-++herr b
L SRy RS SR DI
0.002F------ eeeaens ) [P eeeens - :
E : A : :
L_\Q'....i....i..“I*ﬂ'cd'"'.‘i....i....
SRR 19 1111111119113 0 LR
0'95- H " 1 1 H
=30 -20 -10 0 10 20 30

[ Efficiency vs. sim PV z |
0.0

0.009
0.008
0.007
0.006
0.005
0.004
0.003
0.002
0.001

0

FRVS)

i

iy

o

15



	Contents
	Page 1


